CITY OF NEW BEDFORD

APPLICATION FOR LAYING BUILDING SEWER AND/OR DRAIN SERVICE

	710	10000	Der	m1+20752)	
Application	W.	19833	1	m1+20153 08/09/198	3	January 28, 1976 Date
To the Mayo	or and Ci	tv Council:				
I hereb	y reques	t that a build	ing sewe	er and/or drain b	e laid fo	or the premises at
North	side Mt	. Vernon Si	treet. 2	235' East of I	urner S	Street.
					KI I I DOSE O PRINTERIO DE LA COMO.	street,
the same to Public Work	be laid	in the street	and the s	surface repaired	as direc	ted by the Commissioner of
I hereb work in the completion of	manner	specified, in e	e office of	of the City Treas the deposit made	urer all e herewi	cost of performing the above ith, within 10 days after the
to the paym	ent of the returne	and agreed the cost of per d to me by the	forming ne City T	the work done, as reasurer.	nd that a	application shall be applied any excess of deposit over the
			169	mt. Vem	ns &	f. h.B. 2-5580
			Addres	ss		Telephone No.
			K.	Sold fig distriction		
				P	lumber's l	Name
Requires separator for roof water	te entrance				Addres	ss
	_	Permits to In	dustrial	and/or Commer	cial An	plicante
the Commis	sioner of	Public Worl	ks of suc	and/or commerci h supplemental i of the proposed v	informat	icants only upon receipt by tion as may be required by ter discharge.
This in	formatio	n was submi	tted by			
				Sign	ature of A	applicant (owner)
and approve	ed by th	e Commission	ner of P	ublic Works on .		Date
						issioner of Public Works
		Esti	mate and	d Deposit Requi	rement	
			Office of	Commissioner of	Public	Works, January 28, 1976
	020		aying the	e building sewer		drain described in the above
Aggagad						
Entrance ch	arges	\$15.	00	Total depo	sit requ	ired\$212.00
					Comm	issioner of Public Works
			Cert	ificate of Issue		
			Con			
						k, <u>January 28, 1976</u>
						receipt presented this day;
			••••••	was issued, and	the Co	ommissioner of Public Works
notified of t	he same.			0		Q
/				Ell	1 1	M. Sugher City Clerk US
Laid from mai	n in street	t to property li	ne			City Clerk
Owner agrees t	o supply a	ll necessary mat site	er- pe.			(-

THE PARTY OF THE P

greens and an analysis with the second and the seco

Not it want.

The American St

. North side . M. and Sirear 1957 Last of Torner Sirear.

NOT RECEIVED TO THE PROPERTY OF THE PROPERTY O

115.00

replication in al

AF I LE ATTENDE . Just and head to

gabiliti kanangan kulanti Kanangalai ya Babili nanganana atilik sa kanada sa katalai sa kanada sa katalai sa k Babili kanangan kulangan kanangan kanangan kanangan kanangan kanangan kanangan kanangan kanangan kanangan kana

		COMMISSIONER OF PUBLIC WORKS
Length of service	28'	five 3/20/76
Sewer depth	6 1/2'	pipe system
Surf. drain	***************************************	Contractoria Nome
		Contractor's Name(if working on City Property)
Drain Permit Nº	19833	City of New Bedford, Office of D. P. W., <u>January 28, 1976</u> Date
To Commissioner of P	ublic Works.	
Permission has thi	s day been issu	led to
V new Bedfard	Koofing	and S/M. ine 169 Met. Version St. n. B
By Signature of	roperty owner	Address 284 Caroline At M. R. Address
to lay a building sewe	r/drain service	from the premises at
North side Mt. V	ernon Street	235' - East of Turner Street.
to connect with the se	wer/drain in	Mr. Vernon street.
Laid from main in street to Owner agrees to supply	o property line.	L. m. S.
andtran	site	. pipe.
Requires separate entra	nce for sewage	and roof water

Pat for mails Warre

RETURN OF FOREMAN	ROLL #7
Time 17.30 A.M.	137
By COST COST	
Labor hours @	
Jesse Towner 4" 4.98	19.92
Norbert St. Priene 4" 4.19-	
Herb \$1102 4" 4.19-	16.76
JOHNACODO 4" 4.31-	17.24
Toy Bur to 4" 4.13.	16.52 = 67.28
	87.20
"	
Stock	/
12 pag (owent 2.70-	1.35
100/65 Sond =	10 /
Repair 12 X3 B.T. STreet@x.85+5.	39 20
Trucking	
	07 00
ordson = 35-3-4RS> @7.00-	21.00
- 1 110 -	3.80
Total Cost	156.10
Estimate-cost of laying drain 212 -	12.6.10
A Entrance charges 15 00	
Total deposit	
ABalance due	55 90
1 -d Stant & Black	1-3-11.
Pieces pipe to curl	1-3H
" " curb to house / John	rifice
Cut at sewer 6 2	
Cut at curb 4	
Size of pipe 6 Thom S. L.	
Correct	
1 · · · · · · · · · · · · · · · · · · ·	